Monday y6 You decide
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Clues across 14
1. Square number with factor of 7 15
2. 156 x 10 16
5. Number of cm in 25.40m
7. A number which reads the same backwards
as forwards, using the digits 8 and 0
8. A quick way of adding this number is
to add 100 and take away 1.
9. 862 X5
10. 954 + 6 '1
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Scroll down

240 of 1750

Average of 4000, 4900, 3280
One dozen

1001 x 3

322 x 20

One less than 1900

% of 100

for answers......

Clues down
. 100 subfract 55

where you need to use formal calculation or mental methods. Good luck!
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One and a half thousand -
. 476 add 72 ’ //J\'\Sb
0.6 x 100
10 years after the year 2000 LV‘
. 10 years before the year 2000 |
. The total of 4799 and 3553 CaSe A

. 437 less than 10,000
. From 5000 take 684

This number is 10 tfimes greater than 100.
One more would be 4050

4188 + 12

Y2 of 136

Number of mm in 2.5cm







